
5
lr >
Fi 9.:

.v.iH
. 1 P A11 g 5E!t :ahB+ >;H

=>(aoj-Bol9o.aD9YlJH
;itrFJa3.v(g*ii^qpe o u:5, 8gg;€

EE E?EETgEE e e Ut qEE 5,

JI EgEE$ EigEEEBs
5l _G'6-Era 6a€aa'f aa-
F..t s'=otE F E.os'frg U ,, ET.E8dj q u : Hx eet H. E H e E- u

Fl oJ 6 g 5 o E ooo.il H E gEEdEFB
ol 60)or ri bo- EFEE>3E;l g 'i" ! c.r .Y.i. - E € E

?1 EA EEn.iEEE+:q$
3l gg " H E.gf g g i g E E ? E

!l H $s gE fi E EEi $ s E E s.El 3 t-cn eolaolaos ac-l .=,E.zF5l ';
zl i

#l : : ElHl

fl ; ; -HEIg q s 5:lt
fl, 5 i g{l$

EHIgiiiflflfl

flgggII*I*gEHE,5l
;l ..... . . .
cl

-l

o

o
T
N

at"zo
o.=trt-

o
IEoa
o:
,e5>e
3oo ,oJ(!to

nil
NI
ol
TI
ol
ol
al
..t
EI
.el
fll
cl
EI

el
GI
xl
lrlI

elLI
ol
Fl
ltl
EI
g
ol

fll
ol
ol
EI
ol
ol
-l
tol

m
.E
al-lfo=
>.Hr- -Y
Ir(tr

-tE-l-

Z,
a-?
}(
M,

s
$
N
N

o.liot6e=
303ooL



5H
N+t , * E E.E=g[ E F- E EE+r E nE g H ,EiE? i A -e= E E EH#flhn g d = F Et d*.: e sgHo

Ern :T I 5 2 :E EESHET{!;E* H g f E Es shEu:llgE
'E=': v '- 3 " o or a d 65(r€r E 5q E d EE ea!s*;i+xa.,'il .E ^ E :F.E_ .E r"i .ex ;iEEH*eEv-C:ioE) .h',P Es,?HH B gU 'EU P:E;.,"uboi.e=L dg.g trHEEt ff 6F €f 6.F,o#ipE€Neo.fr:*Ha EEE ?iI;9 ,., F CE fs r ;>EEEoi ;pE a:ad.E I e E5 EE Yl Ii5:l;Fti1sa>:11 1f,8?B tl E,f * $; '-r ss5EGou>
'"g'oa!oa oa*oa fl E ?i Eq El !EEEfEEtrt fi e ill E re eP

I E ; o Eie E"6 xt 3E-ElqE.;:pe : fr dE sEEEE 
Bl €E;E-:s!!d9Y.: + o, H Fl ? HHggts Hl Sqg.f ErF:g*EE T H # :lI gEEHE El€;gfEf$;FEr { € H ElH EE:tE- ElefilgE.*;..$

.l.Hc !

HaEE ** li **e HIE BEiEE; HE€saEiF*
;Ec$ riain;t*e ri t-+rfrfiE El :tf+*rE;l(,).9.9Xtrlr,,ae .gEiqEE*s 

xl silgsSEsi xl FtEsESE€EEtt-Y.-E
< ^^\ ^.-,^aaU,-:.^?,:t^ ql'

i.og'"-of--''-i" rl'?"'"- Il . cd+rjtoN Il - o. = =



ARKAJAIN
Universitv
Jharkhand '

: Systemic Diseases
: B. Optometry
t7O

Subject
Gourse
Full Marks

Roll No:
Time :3 Hours.

lnstructions to the Candidates:
. Read the question paper very carefutty.o Start writing from 2nd page onwardr; 

?ol,t lrltg 9n Th. f s .o Question paper is divided into Three parts +, EEf-r Part-A is containing 10 muttipte choice questions.
' Part- B containing EIGHT questions out of which srX questions are to beanswered.
o Part c containing FOUR questions out of which THREE questions are to beanswered.

' Do not write anything except your Rott No. on the question paper.o Possession of Mobilq phon.es or any king. of 
,tn: mYiqt"t", a*itf t der unfair Meansand wi[[ Result in the c@rs

Multiple Choice euestions
PART - A

[10x1=10]
L. i) Abnormal growth of blood vessels is cailed-.-.-.

a) Neovascularization b) Neovascularization
c) Natovasculazing d)Striaberation

ii) Cenhal retinal artery is abranch of
a) Carotid artery b) ophthalmic artery
c) Chorio-capillaries d) Supero temporal artery

iii) Risk factor for Diabetic retinopathy incrude both ir and iil
a) Duration of diabetes & b) Severity of diabetes and cancer

Hyperlipidaemia
c) Stroke and cancer d) Hypertesnion and hyperglycemia

iv) Amaurosis fugax requires approach
a) Cardio vascular
c) Ophthamic

v) Migraines may cause

a) Nausea and blurring of vision
c) None of the above

b) Cerebro vascular
d) All of the above

b) transient ocular ischemia
d) Encephalitis



vii) Leukemia causes type of retinopathy.
a) Haemorrhaging
c) Necrotizing

viii) SLE stands for
a) System of Leukemic

erythocytopenia
c) sustained Lupin ecchymosis d) systemic Lupus Erythematous

ix) which of the following will require CT scan as an auxiliary testing?
a)TAO b)Retinopathy
c) Xerophthalmia d) CMV infection

x) Myasthenia gravis receptors

vi) New blood vessels start formic due to
a).Necrosis
c) Ischemia

a) Acetylcholine
c) Sodium

Answer any SIX out of EIGHT

b)Degeneration
d) F{ypertrophy

b) Exudative
d) Atrophying

b) Sarcoidosis Lemo Ertherna

b) Cholinergic
d) Potassium

PART - B

2. Sjogren's disease and associated dry eye
3. Explain in brief- Behcet's disease.

4. Myasthenia Gravis.
5. Explain a case of ocular emergency.
6. Explain consanguinity marriages in very brief. Describe pedigree charting.

Mention an ocular disease which is contracted as a result oT the same.
7. Leprosy and ocular implication.
B. Write a short note on genetic counselling and genetic engineering.
9. Explain briefly deficiency d.iseases and genetic diseases.

PART - C
FOUR

[6x5=30]

[3x10=30]

their underlying pathogenesis.



ARKAJAIN
Universitv
Jharkhand '

Subject
Gourse
Full Marks

: B. Optometry
:7O

Roll No:
Time :3 Hours.

. Read the question pupur rury.arefutty.. 
ililr,X,jiting 

from 2nd page onwuidr;

o Question paper is divided into Three parts -A, B & C.o Part-A is containing 10 muttipte cholce questions.
' 

rfi"Lcontaining 
ErcHT questions-out of which srX questions are to be

' 
r$5r"?:taining 

FOUR questions-out of which THREE quesrions are to be...
. Do not write anything except your Rott No. on the question paper.' iT;T',:i#*fl*Hffi"ff Y,_fT^"J.fu

Multiple Choice Ouestions

f . i) Which one of the following is not a measure of mortality
a) Net reproduction rate b) Crude death rate
c) Standardized death rate ,i n _^ ^_^-;: 

'

ii) rn sampting method of starisricat t ,rr"rrigurfl,lfi::."rtj':ffi*;;::,, refers toa) A collection of human beings b) A collectio, of .,or, living thingc) Collection of both having d) None of the above
common character

iii) In sampring method of statistical investigation, we take observation ona) Each observarion of thepoputation b) only a smafl;;;;;;tation
c) Both 

d) None of the aboveiv) The correlation coefficient always lies between
a)0and1
c) -m and oo 

b) o and m

d) -1 and 1

PART - A

[10x1=10]

T,
: Research Methodology & Biostatistics



v) Age specific death rate is a special case of

a) Net reproduction rate

c) Standardized death rate

vi) Mortatty is related to

a) Birth
c) Migration

a) Living objects

c) Biography

vii) Biostatistics is the branch of statistics that deals with

b) Crude death rate

d) Specific death rate

b)Death

d) None of the above

b) Biological events

d) None of the atove

b) Anonymity
d)Discretion

viii) When the participants are not revealed in the study is called

a) Confidentiality
c) Ethics

ix) IRB full form
a) Internal review board b) Institutional rating board

c) Institutional review board d) None of the above

x) Hypothesis are how many types?

a)2
c)3

b)1
d)0

PART - B

Answer any SIX out of EIGHT

2. What is research methodology?

[6x5=30]

[3x10=30]

3. What is research problem?

4. Write a short note on reseat



ARKAJAIN
University
Jharkhand

Sth Semester End Term Examination: Dec - 2022.
Subject
Gourse
Full Marks

: Binocular Vision
: B, Optometry
:5O

Roll No:
Time :2 Hours.

lnstructions to the Candidates:
. Read the question paper very carefulty.
o start writing from Znd page onwards; Don't write on The 1st pae

Backside.
e Question Paper is divided into Three parts -A, B & C.. Part-A is containing 10 muttipte choice questions.
o Part- B containing slX questions out of which FoUR questions are to b

answered.
r Part c containing FOUR questions out of which rwo questions are to b

answered.
o Do not write anything except your Rott No. on the question paper.
o Possession of 4,tobite Pllones or any kind of Written Material, Arqumenl

v{ith the lnviqilator or Discussine with co-studm
Means and wi[[ Result in the Cancellation of the papers

PART - A
Multiple Choice Ouestions

f . i) Physiological diplopia is manifest in case of object situated

[10x1=10]

a) On horopter
c) Outside panum's space

ii) Example of monocular clues except-
a) Looming
c) Motion parallax

iii) Occlusion is a treatment for
a) Toxoplasmosis

c) Amblyopia
iv) Prism bar cover test is used to detect

a) Squint
c) Steropsis

v) Hirschberg test is used to detect
a)Heterophoria
c) Diplopia

b) Within panum's space

d) All of this

b) Disparate retinal image
d) Aerial prospective

b) Exophoria
d) Refractive error

b)Amblyopia
d) None of these

b)Heterotropia
d) None of these



vi) Vision with single eye
a) Monocular 

b) Binocular
c) Bi ocular

vii) No coordination between two eyes 
d) None of these

a) Monocular L\
c) Bi ocurar 

b) Binocular

viii) Coordinated vision between *o 
"r"1) 

None of these

a) Monocular
c) Bi ocurar 

b) Binocular

ix) The correctneuromuscurar a",outop*3tT:1f,uJ,fjt"lrr", axes are directed at theobject

a) Motor mechanis
c) Mentar*o.",, '- :1ff#:Tril:::anism

x) The equal image clarity and size of two eyes
a) Motor mechanis
c) Mentar 0,o.",, 

* 
:1i,"#:?ril:::anism

Answer any FOUR out of SIX
PART - B

[4x5=20]
2. Herring,s Iaw of equal innervation
3. Write a short note on Horopter?
4. What is sensory aclaptation?
5. Local and global stereopsis
6. Grades of binocular vision
7. Extraocular muscles

Answer anlr TWo out of FoUR 
PART - C

[2x10=20]
8' what is BSV? Describe the advantages of BSv? what are the prerequisites ofBSV? How is BSV measured ,ri.,g Jyr,uptophore?
9' Discuss the crassic feafures 

".,a 
*lur,ug"ment of Convergence Insufficiency.10' Define Dipropia. Describe crossed uod,.".orred Dipropia. Eraborate on themanagement techniques for a phoria case.

11' what is accommodative fa.,ltty? How do we measure it? Exprain the process.



ARKAJAIN
Universitv
Jharkhand r

: Geriatric Optometry and paediatric Optometry
: B. Optometry
:5O

Subject
Gourse
Full Marks

Roll No:
Tirne : 2 Hours.

Instructions to the Candidates:
r Read the question paper very carefutty.o Start writing from 2nd page onwards;

Backside.
. Question Paper is divided into Three parts -A, B & C.o Part-A is containing 10 muttipte choice questions.. Part- B containing SIX questions out of which FOUR questions are to be

answered.
r Part C containing

answered.
FOUR questions out of which TWO questions are to be

' Do not write anything except your Rott No. on the question paper.o Possession of Mobile phsnss or any kind of written Materiar, Arquments
me under Unfairllaa^. ^^,{ ..,:ll D^-..ta :.. LL - -Means and *itt ;

PART - A
Mu1tiple Choice Ouestions

f . i) Remedial Therapy for myopia is
a) Therapy with atropine
c) Therapy with glasses

ii) Absence of crystalline lens from birth
a) Congenital aphakia
c) Congenital polycoria

iii) Congenital absence of iris is called
a) Aniridia
c) PPM

[10x1=10]

b) Therapy with contact lens
d) None of these

b) Congenital aniridia
d) None of these

b) Polycoria
d) None of these

b) Polyopia
d) None of these

iv) Abnormally eccentric placed pupil is known as
a) Corectopia
c) Polycoria



v) If the horizontai diameter of the cornea is less than LOmm since birth, then
condition is called

a) Microcornea
c) Buphthalmos

b) Megalocornea

d) Corneal plana

vi) If the horizontal diameter of the cornea is more than L3mm since birth, then
condition is called
a) Microcornea
c) Buphthalmos

vii) Congenital ptosis is due to weakening of

b) Megalocornea

d) Corneal plana

b) Orbicularis oculi
d) None of these

a) LPS muscle

c) Muller muscle

a) 3 meter
c) 1" meter

a) Amblyopia
c) Myopia

a) OKN
c) VEP

Answer an)z FOUR out of SIX

viii) HOTV test should be done at a distance of

ix) LEA symbol test is used for avoiding crowding phenomenon in

b) 5 meter

d) Infinity

b)Aphakia
d) Hyperopia

b) PFr
d) None of these

PART - B

x) Which test is based on pendular eye movement?

2. Write a short note on morphological change of eye in adults '
3. Write a short note on hypertension,
4. Write a short note on diabetes.

5. Write a short note cerebrovascular diseases .

5. What is cataract?

7. Write a short note on history taking in pediatric patients .

PART - C

Answer any TWO out of FOUR

B. Discuss hypertensive retinopathy and its grades.
9. Discuss diabetic retinopathy and its grades,
10. Describe optometric examination in older patients.
11. Discuss spectacle dispensing in elderly patients"

[4x5=20]

l2x10=201



/

Subject
Gourse
Full Marks Roll No:

Time :2 Hours.

@/,ffiffi{nlr
: Gontact Lens I
: B. Optometry
r5O

: ilY ll.:.:::.,:"n pupui@.areruuy.. Start writing from lnd ,"r"-""*u;oqBackside.
o Question paper is divided into Three parts _A, B & C.. Part-A is containing 1O muttipfu .hoi." questions.
' Part- B containing srX questioni ort of which FoURanswered.
o Part C containing FOUR questions out of which TWOanswered.
. Do not write anything except your Rott No. on the question paper.o Possession of A,lobite phones or any

,LLrutur come under@

PART - A

-

questions are to be

questions are to be

[10x1=10J
f . i) The components of care and maintenance

a) Daily cleaner
c) Lubricants b) Rinsing solution

ii) Purpose of care and maintenance 
d) All of the above

a) Clean lenses and good comfort b) Good vision
c) Safe Iens wear

iii) wearing RGp rens should ororrrd"') 
AII of the above

a) Good visual acuity with comfortb) No ocular insult
. .tl No facial appearance d) A, of the aboveiv) The degree of fluorescein pooling can be graded as

a) Slightly sreep b) Steep
c) Very steep d) AII of the abovev) Ideal lens movement during fitting assessment is
a) Smooth
c) Apical b) RockY

d) AII of the above



I

I

1

,

vi) Dynamic fitting assessment is done by observing
a) Decent ration & stability
c) Movement in lateral gaze

vii) Post fitting assessment is done by assessing

a) Dynamic fit
c) Vision assessment

viii)Preliminary measures for RGP

a)HVID
c) Lid tonicity

ix) Patient selection criteria for RGP

a) High motivation of patient
c) Corneal toricity

x) RGP lens fabrication techniques
a) Lathing
c)Botha&b.

PART - B

b) lvlovement after blinking
d) All of the above

b) Static fit
d) All of the above

b) Radius of curvature
d) AII of the above

b) Moderate to high refractive error
d) All of the above

b) Molding
d) None of the above

[4x5=20]

[2x1,0=20]

5, What is accommodation?

6. What is convergencel
7. What is vertex distance?

PART - C


